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return 1,0,a
X,Y,g=xgcd(b,a%b,n)
t=x
X=y
y=t-(a//b)*x
return x%n,y%n,g
gcd(a,b):
if b==0:

return a
return gcd(b,a%b)

def get a():
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for i in range(1,26):

if gcd(i,26)==1:
X,Y,g=xgcd(i,26,26)
a_buf.append(x)

return a_buf

FS_Encrypt(plaintext,a,b,m):
ret=""
for ¢ in plaintext.upper():
ret+=chr((((ord(c)-65)*a+b)%26)+65)
if m==0:
return ret
else:

return ret.lower()

FS_Decrypt(cipher,a,b,m):
ret=[]
tmp=""
if a==0:
a_buf=get_a()
for ta in a_buf:
tmp=""
for c in cipher.upper():
tmp+=chr((ta*((ord(c)-65)-b)%26)+65)
if m==0:
ret.append(tmp)
else:
ret.append(tmp.lower())
return ret
else:
X,Y,g=xgcd(a,26,26)
for ¢ in cipher.upper():
tmp+=chr ((x*((ord(c)-65)-b)%26)+65)
if m==0:
ret.append(tmp)
else:
ret.append(tmp.lower())
return ret

print '[*] 1.00%, 2.f#%:"
f=int(raw_input())
if f==1:
print '[*] BB
plaintext=raw_input()
print '[*] EHiANa:'
a=int(raw_input())
print '[*] iE#IAb: "
b=int(raw_input())
print '[*] 0. %t AKE, 1.5MHANE "
m=int(raw_input())
print FS_Encrypt(plaintext,a,b,m)

print '[*] EWAEX:"
cipher=raw_input()
print '[*] &%iAa:'
a=int(raw_input())
print '[*] &%Ab:"
b=int(raw_input())




print '[*] 0.%
m=int(raw_input())
print FS_Decrypt(cipher,a,b,m)

[*] 1.00%, 2.4
1

[*] IEWABEX:
hack

[*] IEHANa:

5

[*] IEWAD:

18
[*] o. WMHAKE, 1.BHA)NE:
1

bscq

[*] 1.00%, 2.f8%:

2

[*] BRANEX:

bscq_

[*] iEHIAa:

(i]

[*] B Ab:

18 _ R
[*] 0. WBAKXRE, 1.BEANE:
1

['jaky', 'dami', 'hack', 'fauw', 'baeu', 'paio’,

'xaos', 'ragc']
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